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The Questzon Paper consists of three sectzons A, Band C. Candzdates are requ

attempt all questzons from Sectzon A and all questlpns
/ . L
'EITHER from Section B OR Section C ho

?;‘ 5€Ct10n A: Internal choice has been provided in two questions of two mftrks each, two

- questions of four marks each and two questlons of six marks each.

(4- 3

)
 Section B: Internal choice has been provided in one question of two marks each and one
question of four marks. ['sat iy

Section C: Internal choice has been provided in one question of two marks, and one questton
of four marks. ; i

All workmg, including rough work should be done on the same sheet as, and ad]acent to
the rest of the answer. :

ihe mtended marks for questzons or parts of questzons are gwen in brackets [ I

Ouestion1 . . | ; e

In ‘vs'ub»parts (i) to (X) choose the correct options and in'sub.-parts (xi) to. ‘

answer the questions as indicated.

Relation R i in the set Z of all 1ntegers defmed qs R-{(x, AL ..
B xm BIA }1 o




-"g)i’tfﬁé"f surjective nor injective

e O hwn & A amatiane ‘ﬁml ite

arxm&e i Ha b Ao

¥ \ £):
If tan X+ =— then value of
¢ ) won Jy*\ ,:4 3 1:1; OIS S iy

L}

(iv) - Value of deterrmnant A, b ‘ca
C ab

(@)
{b). a+b+c

(ix) @)y Jabay: fir
(d) a+b-c
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(d) None of these

(Vu) A be a square matrix of order 3 x 3, then |KA | is eq%al "
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Events A and B are such that P(A | B) = 0 4, P(B | A) 0 25 and

(A v B) 0.12 . Are the events 1ndependént

edge of al var1able cube is mcreasmg ata }iat% 0 % cm /{ f‘ﬁc How
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Questton 10
(@)- Anurn contains 10 while and 3 black balls, while another urn contams
3 white and 5 black balls. Two balls are drawn from first urn and put

into the second urn. Then a ball is drawn from second urn, Find the

¢ 1+ cos® x

probablhty that the ball drawn from second urn is white.

OR
A and B fhrow a pair of dice alfernately. A wins the game if he gets a
total of 7 and B wins the game if he gets a total of 10. If A starts the
game then find the probabﬂlty that Bwins. o

Questwn 11




’?'««§’<§9¥Y,.;:’Fl3§‘:&1¥1%1“ °f-.s a cylinder of greatest volume v

&t l\lom‘

- w1ns‘c1 1bed in a r1ght c1rcular cone, is one third that of the cone.
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| (b) A wmdow has the shape of a rectangle surmounted by_'an equrlateral

Sy 3 SEOINaY Al ()

 triangle. If the pe1 imeter of the w1ndow is 12 m, f1nd the d1mens1onsv :

of retangle so that it may produce the largest area of the wmdow

Question 14 : é;g TR S,{6]‘

3 @) Assume that on an average one telephone number out of f1fteen called
(&}
, between 2 pm. and 3 p.m. on week days are busy, what is the

probab1hty that of six randomly selected telephone numbers are

called, at least three of them will be busy ?

SECTION - B (15 Marks)
p@uestzon 15

ln spb—parts (i) and (11) choose the correct opnons and rn s“ulb—partr

to (v), answer mdted o
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endicular to plane o

Find a vector of 9 units perp

a 21+]+k and b-l+25'l'12
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F1nd tlle Vector equa’aon of plane thrdug
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If p and q are un1t Vectors formlng an angle of 30°, find the area of

parallelogram havmg e p+ 2q and bt 2p+q as it’s dlagonals

¥ 2y

OR

(b) F1nd the vector projection of j on 3 when a=i- 2+ k and

b=7i-3k+]

P
v
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L SECTION ; c-'[ 15 Marks ]
T b i [5x1]

;: : ﬂg Questton 19
In sub-parts (i) and (ii) choose the correct optlons and in sub—-Parts

(111) to (v), answer as instructed. '

M ‘ If R(x) and C(x) repr esent revenue and total cost functlons respectlvely,

- then at break even point :

@ RE<CE 0 Roar
© RE>CEX @ R(x)=—;-C(x)

(i) The two regression lines intersect at the point (4,5) then mean for

variate x is :
@ 4 (b) . D
(© 4.5 @ 9

(iii)  If total cost function for a manufacture is given by
2

5x
C(x) = e +50C then find average cost function.

(iv) The demand function for a certain product is p E 20 + 5x - 3x? , where
» is the number of units demanded and p is the price per unit find
'marginal revenue function.

(v) The regression coefficient of x onyis0.8 and correlation coefficient
b'etweenvx and yis 0.4 then find the value of regression coefficient of

yonx.

Question 20 . ’ 2]

¥
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‘ (a) If C(x) = v/6x+5 +2500, show that marginal cost decreases as output
' x increases.

OR
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(b) For derr{and function P = T show that margin;a‘lirevfevnueufunCtion

is increasing forallb<0anda>0.

Question21 . | l | [4]

- nEEREHEEEN R
(a) Gwenthedatay T R B 5 i 5 o

find regression line of x on y and hence predict x weny = 2.9
OR
(b) - If the two regression lines are 4x - 2y = 3 and 2x - 3y = 5, find
correlation coefficient between x and y. Also predict the value of

y when value of x is 3.
Question 22 [4]

 To maintain one’s health, a person must fulfil certain minimum daily
requirements for the following three nutrients, Calcium, Protein and Calories.
His diet consists only food I and food I whose price’and nutrient contents

are shown below :

. Food | Food Il Minimum daily .
Price | #0.60/ unit | 1.00/ unit| requirement
Calcium 10 4 20
Protein 5 5 20
Calories 2 6 ' 12

‘Set.»up the linear programming prbblem and solve it graphically, the

objective function being the minimisation of cost for the combination of food

units.
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